1.
BRIFEDEY

(1)

1)
1 2 3 2 2-2-9 -9
01 2)|-1{={0-1-6|=|-7
3 2 0|-3 6-2+0 4
2)

L 2 3 1+2 2-2 3+6 3 0 9
3 1 L { 3}: 3+1 6-1 943 |=|4 5 12
1 1 -1+1 -2-1 —-3+3 0 -3 0

-3

2 2
2 11 411l 4-4+1 4+1+1 —-6-1+0] [1 6 -7
2 3 1 | 0 1441241 4-3+41 —6+3+0| [17 2 =3

4)
2 4 -1

213 0 1 |=2+6+1 4+0-1 —1+2+4]=[9 3 5]
1 -1 4



(2)
—— e —— ==
I

2 1,1 0
0 112 _ =l 1! 0
3 11,0 1f~2 1
o_0vt1 1dbz2y 1
FREDORPEZHONT, L FD#E Y

A, A, B, B,
|:A21 Azz:||:Bz1 sz

2 ATX2ATORE LRI EDLDT, ZOTHOFREIZLL FO@®E T 5,

|:AllBll+Al2B2l AllBIZ+AI2B22j|
AZlBll + A22 BZl AZIBIZ + A22 BZZ

T, ENThOEZEEHETDHE, LTFTO@Y IR 5,
2 111 [2+1] [3
AIIBM: o 1l = 0 =
+1 1
ag ! 01-2] [-2+0] [-2
B2~ 2] |[-4-2] [-6
3] [-2 1
A]lBll+A12821=_1 + _6 = _5
2 1-1] [-2+0] [-2
AuBlz: = =
0 1/ 0 0+0 0
AR [0y J1+0] 1
272 1| [2-1] |1




g _|0 =21 [o0+21] [2
A ”_{1 L_z}‘_—2+2}_LJ
8 8 [4 '2_6
A21 1]+A22 21_|:0:|+ 0}_|:0}
B _ 3 1“14,_ -3+0| [-3
%1”_{0 q_o}_{0+o}_{o}
{0 1"1} {O—kl} {1}
A,B,, = = =
111 [1+1] |2

PLEXY .

211 01 =1 1 -1
01 2 -1 1 0 [-5 1
310 10=2 1] 16 =2
001 12 1 0 2

L%,



(3)

X+3y+z=2

2X+T7y—-72=-3

-X+2y+3z=1

FREEN R ETIITET L, LTO®@v Iz 2,

ZZ T,
1 1
A=l2 7 -1
-1 2 3
X 2
L, |y|=A 3| TRDBENRTE D,
Z 1

WATHI AT &, fREH LEEZHOCTRD S &

1 3 1 1 00 1 3 1100
2 7 -1 01 0|>|0 11 501 2
-1 2 3 0 0 1 -1 2 30 0 1
1 3 1.1 0 0 1 3 1 100
|0 11 5 0 1 2|—>|0 44 20 0 4 8
0 5 41 0 1 0 5 4 1 01
(1 3 1. 1 00 1 31 1 0 0
5 4 3
|0 19 0 -5 4 3|>(0 1 0 - — — =
19 19 19
05 4 1 01 054 1 o 1




1 3 1 1

5
-0 1 0 ——
19

0 0 4 44

I 19

I 8

1 3 0 19
-0 1 0 _
19

001 11

I 19

0 0 1
43 -0
19 19
_20 41 |0
19 19
5o 1]
19 19
4 3
— — |-
19 19
oL
19 19 |

L%, UbXy, @G RAIIUTO@EY f#iT 5,

23 7 10 |

2 19 19 19
y:A’1—3:—i i i
19 19 19

z 1 11 5 1
19 19 19 |

46+21-10 57 3
:l-—1o—m+3 :l-—19::—1
22+15+1 1 38 2

[z ]

2
-3
1

23

L
19
11

-7
4
-5

=10 2

3
1

WATHI AT E, ATHIRE AN TRO L HIZRD B L b TE B,

13

A

A—I

zzT [N kRO XS iskp b,

-3
1



[A=1x7x3+3x(=)x (=) +1x2x2=1x2x (1) =3x2x3-1x 7 x (1)
=21+3+4+2-18+7
=19

ko |NRERITH S,

ABERITH D70, AlE, RO XSk

Hohd,
N (=1)* x(7x3=(=1)x2) (1)’ x(3x3-2x1) (=D)*xBx(=1)-7x1)
A=|(=1)’x2x3=(=)x(=1)) (=D)*x(Ax3=1x(=1) (=1)’x(Ax(=1)=1x2)
(1) x@2x2=Tx (1) (= x(1x2-3x(=1)) (=) x(1x7-2x3)

23 -7 -10
=|-5 4 3
11 -5 1

ko, WITHIA IE, BT LSk b,

23 -7 -10
NHj%—S 4 3
11 -5 1

#lx, ERROMALRERIL X DI 5,



